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QUESTION 1

Your domain is experiencing some intermittent problems that you are not able to figure out on your own. You have
opened a case with Oracle Support to help you figure out the problem. The support engineer would like to use the
WebLogic Diagnostic Framework (WLDF) to obtain an overall view of your WebLogic Server environment to try to
narrow the problem to a particular subsystem.

What WLDF data does the support engineer request from you? (Choose the best answer.)

A. Diagnostic image snapshot

B. Java Flight Recording of the JVM

C. Instrumentation log

D. Specific harvested metrics

Correct Answer: A

Diagnostic Image Capture gathers the most common sources of the key server state used in diagnosing problems. It
packages that state into a single artifact, the Diagnostic Image.

Reference: https://docs.oracle.com/middleware/1212/core/ASADM/diagnostics.htm#ASADM11145

QUESTION 2

Which are three valid actions of the Post Domain Creation process? (Choose three.)
A. Import LDAP data from XML files.

B. Run pack and unpack commands for managed servers on remote machines.

C. Run any SQL scripts to generate database artifacts.

D. Use WLST to run the postdomain.py script.

E. Run the root.sh script.

F. Assign DNS names to all the hosts.

G. Run the RCU utility for each hosted application.

Correct Answer: CEG

E: Following installation of your product, you need to run the root.sh script as the root user. The root.sh script detects
settings of environment variables and enables you to enter the full path of the local bin directory.

G: RCU is a Fusion Middleware tool which creates database-based repositories. Oracle Data Service Integrator does
not have a repository by itself, but it relies on some Fusion Middleware schemas for WebLogic Server and JCF when
using a full domain.

Reference: http://www.oracle.com/technetwork/database/availability/maa-fmwsharedstoragebestpractices402094.pdf
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QUESTION 3

You are analyzing the IMSDeliveryMode header field for all the messages for all the queues deployed to your
JMSServer.

Which two values do you expect to find for this header? (Choose two.)

A. PERSISTENT

B. NON_PERSISTENT

C. TRANSIENT

D. PERMANENT

E. MULTIMODE

F. EXACTLY_ONCE

Correct Answer: AB

JMSDeliveryMode specifies PERSISTENT or NON_PERSISTENT messaging.

Reference: http://docs.oracle.com/cd/E12840 01/wls/docs103/jms/fund.html

QUESTION 4

Review the digital certificate below.
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Certificate:
Datca:
Version: 3 (0x2)
Serial Humkber: 6605573732 (0r275f4e3c)
Signature Algorithm: mdiWithRSAEncryption
Izsuer: CH = wls-sysadm
Validity
Hot Before: Feb 20 13:35:19 2013 GMT
Hot After : Feb 20 13:35:19 2013 GMT
Subject: CH=wls-—-sy=adm
Subject Public Eey Info:
Public Eey Algorithm: rsaEncryption

Public-Fey: (512 bit)

Modulus:
00:df:cc:B8a:fe:91:50:64:80:56:7d:f1:d0:d4:f1:
caied:f3:6ficc:22:382defaciTci6c4b: 5681
leide:d0:7d:ad:ea:47:63:98:15:74:;3T7:66:ddal:
64:09:2e:56:bat6o:cl:b8:15:55rac:bh:08:fe:d6:
32200 TEZEL

Exponent: 65537 (0x10001)

X508v3 extensiona:
Z509v3 Subject Eey Identifier:

EA:4C:C3I:08:B4:€0:6A:B&:99:B£:15:T70:E9:24:F2:18:97:46:E93:07

Signature Algorithm: mdSWithBSAEncryption
3b:2f:04:90:bb:82:dc:16:£2:8f:00:c3:20:488:a5:3f:4b:39:
Bf:52:27:bl:3d:e)l:f2:685:E£5:29:cBief b2 9906 e od s B0
ccibdic8BiaZiTbhile:61:03:al:ci60:icB 90 b3 9T b2 B2
48:37:53:08:dd:c8:5f:ec:0baf

Based on what the certificate contains, which statement is true? (Choose the best answer.)
A. ltis a self-signed digital certificate with no certification chain.

B. It is an authentic digital certificate with a valid certification chain.

C. Itis a digital certificate for a private key with a valid certification chain.

D. Itis an authentic root CA certificate with a valid certification chain.

Correct Answer: A

Incorrect Answers:

C: This is 512-bit Public Key, not a private key.

Note: The subject key identifier extension provides a means of identifying certificates that contain a particular public
key.

QUESTION 5

You are using the WebLogic Diagnostic Framework (WLDF) to monitor your domain for certain scenarios
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based on runtime data of your running servers. Different groups are responsible for different aspects of the
application.

As a result, your configuration must fulfill the following requirements:

Notifications must be sent only to the correct group that is responsible for the respective part of the
application.

You must ensure that you can enable and disable monitoring for each level whenever it is needed.

How would you configure WLDF watches and notifications to achieve this result? (Choose the best
answer.)

A. Configure a single module with a watch for each area, and use a natification filter to send an email to the correct
group for each area.

B. Configure a module for each area with a watch that triggers a notification email for the group responsible for that
area.

C. Configure a single module with a watch for each area, and each watch triggers a notification email for the group
responsible for that area.

D. Configure a module for each area with a watch that uses a notification filter to send an email to the correct group for
each area.

Correct Answer: C
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